ORR Notes - Russia

KQ: What steps did the government take to deal with the challenge facing it?
Or How did the Tsarist system survive and recover from 1905?

Michael Lynch in Reaction and Revolution 1894-1921 stated that “What 1905 showed was that as long as the tsarist government kept its nerve and the army remained loyal, the forces of protest would find it very difficult to mount a serious challenge”.
In October 1905 the autocracy had seemed on the verge of collapse. By the end of 1906 he was once again in firm control. How did this happen?

1) He benefited from the disunity of the opposition. The alliance of different social groups challenged the traditional division between Russia’s educated elite and its illiterate peasants and workers. They had different aims for taking action in 1905 and were united only by common cause against Nicholas II.

2) No clear leadership emerged to co-ordinate activities – Lenin was not to return until December 1905 and who was there was unacceptable to many parties as his Marxist need to destroy the existing structures of power could lead to an accompanying social revolution.

3) Mass protests were not revolutionary in nature but more bursts of rage with the intention of forcing concessions from the government. Peter Struve, a Kadet in 1905, voiced the feelings of many when he said that: “Thank God for the Tsar who has saved us from the people”.

Strike action also fell away as lack of wages began to bite. The peasants also lost 

their will to revolt as the Tsar promised the end of redemption payments in the November Manifesto.

4) Nicholas benefited from the loyalty of the army who were willing to crush the Soviets. Summary executions followed and thousands were exiled. The regime showed itself willing and able to use these sanctions.

5) The regime also made use of right wing gangs called the ‘Black Hundreds’ which targeted revolutionaries, students and nationalist Poles and Finns but overall Jews. 500 Jews were killed by them in Odessa alone as the authorities remained aloof. 

Rank the reasons given here for the survival of the tsarist autocracy. Explain your choices.

